Atomic Energy Central School No. 4, Rawatbhata
Multiple Choice Question Examination (November)

Name of the student : Date : 29.11.2019
Class-III Sec. Roll No.

Instructions : 1. Fill & darken roll number field correctly on OMR Sheet. In case of any error, OMR Answer
Sheet will be not be read by the OMR Scanner.
2. Darken the most suitable option no. on OMR Answer Sheet.
3. There is no negative marking.

1. Where was the horse going to?

(a) park (b) village (c) Mall (d) shop
2. Tibloo has legs.
(a) four (b) six (c) two (d) none of these
3. A sheep .
(a) Moos (b) mews (c) neighs (d) bleats
4. Which words means loud sound?
(a) Grant (b) mews (c) barked (d) roar
5. Jackalisa ___ animal.
(a) domestic (b) Pet (c) wild (d) none of these
6. Where was the puppy going to .
(a) Mill (b) hill (o) fill (d) kill
7. A bees lives in a .
(a) ant hill (b) burrow (c) web (d) hive
8. I give you wool. Iam a .
(a) Goat (b) camel (c) sheep (d) cow
9. What did the tiger cub catch one night?
(a) a deer (b) a pig (c) a frog (d) a cat
10. I neigh. I am a .
(a) Sheep (b) pig (c) frog (d) horse
11. Rhyming word of hare is .
(a) near (b) deer (c) care (d) dear
12. Who is the 'I" in the poem 'Puppy & I'?
(a) man (b) horse (c) child (d) puppy
13. Encircle the correct spelling.
(a) Sawllow (b) swallow (c) swallwo (d) sawlow
14. An elephant is a animal.
(a) wild (b) domestic (c) pet (d) none of these

15. Which word means 'fear'?
(a) Pounced (b) twitched (c) frightened (d) glistened
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31. What is 2 multiplied by 18?

A) 34 B) 18 C) 9 D) 36
32. There are 20 students in Mr. Adam's class. Each student has 5 dollars. How much money is there in all?
A) 15 B) 50 C) 100 D) 25

33. Sydney helps her mother with the garden for 7 days. They picked 3 tomatoes each day. How many
tomatoes do they have in total?
A) 12 B) 21 C) 18 D) 73
34. Nathan has 8 golf balls in each of his 3 golf bags. How many golf balls does Nathan have in all?
A) 24 golf balls B) 11 golf balls C) 26 golf balls D) 48 golf balls
35.If there are 7 flags across and 8 flags going down, then how many are in all?
A) 85 B) 16 C) 48 D) 56
36. 4 Black Unit Squares 4 Black Unit Squares 4 Black Unit Squares. Which of the following best
describes the total number of squares?
A) 2 group of 4 B) 3 group of 4 C) 4 group of 4 D) 5 group of 4
37. Which operation should be used to solve the problem?

There are 35 students in Mr. Sanjay's class. Each student has 8 dollars. How much money is there in all?

A) Addition B) Subtraction C) Multiplication D) Division
38. A group of people took 3 cars to a pool. Each car held 5 people. How many people were there in total?
A) 15 B) 25 C) 10 D)8

39. Ellie looked at the fish in the pet store. She counted exactly 6 fish in each aquarium. There were 7
aquariums. What was the total number of fish in the aquariums?
A) 63 B) 54 C) 72 D) 42

40. Meg put 9 books on each of 4 shelves. Which equation tells you how many books Meg put on the

shelves?
A)9x4=n B)9+4=n C)4+n=9 D)n-4=9
41. Akanksha has nine bags of toy cars. Each bag has 11 toy cars. How many toy cars does Akanksha
has in all?
A) 11 B) 9 C) 20 D) 99
42. Which number sentence is another way to find 3x5=15?
A) 5+5+5 B) 7+8 =15 C)3x3=9 D) 5x5 = 15

43. Allison's mother baked a dozen cookies for Allison and her 3 friends to share. Allison wanted each
person to receive the same number of cookies. She used this equation to find the number of cookies
each of them would receive.

A) 12 B) 4 C) 36 D) 24

44, Taylor helped his father with the grocery shopping. He bought three bags of carrots. Each bag
contained 8 carrots. How many carrots were there in all?

A) 3 carrots B) 16 carrots C) 24 carrots D) 30 carrots

45. How many pencils in 6 dozen?

A) 24 B) 36 C) 12 D) 72
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. We get milk from

A) animals

. We take
A) pizza
A) cabbage
A) ice cream

. Fish comes under
A) vegetarian

A) flower

The crow needed the

B) plants

when we get hurt .
B) burger

is an animal product.

B) meat

When we have cough and cold we take

B) lemonade

B) non-vegetarian

B) Trowel

C) vegetables

C) turmeric with milk
C) mango

Q) tu.Isi and ginger

C) fruit

to dig the clay .

C) pot

C) Chhotu

C) Twenty

C) pot

from the clay-pit to make pot.

than the crow.

C) pot

C) beak

C) milk

C) foolish

C) corn

was the name of the Crow .
A) Bhanate B) Phudgudi
The sparrow laid egg.
A) Two B) One
Bhanate went to river to bring
A) Water B) clay
Potter needed
A) water B) Clay
The crow wanted to wash its beak to eat the sparrow’s
A) Feather B) egg
Tick the odd one .
A) Mango B) Apple
The sparrow was more
A) Dumb B) Clever
. Tick the odd one.
A) meat B) fish
. We can use a to store water.
A) Pot B) Trowel

C) spoon

d) none of the above

D) none of the above

D) banana

D) none of the above

D) none of the above

D) none of the above

D) none of the above

D) Three

D) none of the above

D) none of the above

D) none of the above

D) Banana

D) none of the above

D) chicken

D) none of the above



